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A z® — 62° + 216 = 0
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A.3x-4y=4

B. 4x - 4y =3

C.3y-4x+4=0

D.3x-4y=2
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A.xy+y2=x+C
B.xy-y*> =z? + C

2 _ 2
Caxy+2y" =2+ C

D.2zy + 4y? = 2> + C
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A.5x+y-135a=0

B.5x-y+115a=0

C.5x+y+115=0

D.5x-y-115a=0
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.99 fef: A - B, f(x) =

A.A=B=[-1]]

B.A=B =[-2.2]

C.A=[-1,1],B[-22]

D.A=[-2,2],B[-11]

Answer: A

O oz s A



https://dl.doubtnut.com/l/_jV1fkcNeFRkb
https://dl.doubtnut.com/l/_hX0PQIP0JXKQ

20. 318! & & A=Y ST T Bl 3MHR 10 &,

P UIRUT 4 3R k & 3R FoTd AT HHA: 2 3R 4 2

I 31ihsl & WYh THET BT TR0 5. 5 8, dl k &I
O SRR &

A.5

B.6

C. 4

D.3

Answer: A

O iz s &



https://dl.doubtnut.com/l/_hX0PQIP0JXKQ

21.3fE S =1 (25) + 2 (24) + 3 (23)+....+24 (2) + 25

S
(1)%,??[WWIIF[W%

Oaﬂ%ﬁrméﬁ

22, x-3181 & 1Y deb f (x) = max (|| - 1,1 - |x|) GRT x

=- 13 x = 1 I UNEg &ATBd (P Shls A) &

Oaﬁ%@rwaﬁ



https://dl.doubtnut.com/l/_hX0PQIP0JXKQ
https://dl.doubtnut.com/l/_ncrchhPMCZuW
https://dl.doubtnut.com/l/_hhENYPRGMav1

x> — 1

r2 4+ x

23, 7T f(x)=tan1( )%,a‘rw f' (2) BT

o SRR &

Qaﬁ%ﬁwaﬁ

24. 919 ofifsre & P (1,2, 3) B3faw & ves fdg & 3R

2 5 3

UHR & B PQ, 5x - 4y+3z = 1 & IHIR &1 ARG PQ

R U® fdg Q &9

P TS k SHIS B SRR g, dl k2 BT A SRR &

O it s A



https://dl.doubtnut.com/l/_hPjKmCY3NCoU
https://dl.doubtnut.com/l/_qsfgXg0CXAhR
https://dl.doubtnut.com/l/_ouPRwAeRNjXR

25. 7911 AABC & st

A (-11), B (5,2), C (3, -1) & Wi 710 Mt &l dars

1 2 1 2
() (%)
SBHSE p1, P2, P3 SPIS &, ol > Bl
1

P2

HH KRR &

O A&



https://dl.doubtnut.com/l/_ouPRwAeRNjXR

